
61.1 

1) List the factors of 24 

 

 

 

 

 

2) Write in figures twelve thousand, three hundred and four units 

 

 

 

3) Work out 402 × 100 

 

 

 

4) Simplify 
18

30
 

 

 

 

 

5) Find 75% of £220 



61.2 

1) Round 4309 to the nearest 10 

 

 

 

2) Work out 345 × 6 

 

 

 

 

3) Simplify 4x + 3x + 2y − 2x 

 

 

 

4) Work out 3854 + 76019 

 

 

 

 

 

5) Work out 10 − 2 × 4 + 6 



62.1 

1) Work out 
2

5
+

1

5
 

 

 

 

2) Work out 5030 ÷ 100 

 

 

 

 

3) Complete 350mm = …………..cm 

 

 

 

 

4) Write in figures two hundreds, six units and three hundredths 

 

 

 

 

5) Find the missing number ? ÷ 5 = 10 



62.2 

1) Work out 17325 − 3654 

 

 

 

 

 

2) Complete the equivalent fraction 
5

8
=

?

56
 

 

 

 

 

3) Complete using < , =   or >   

 -5     ?      -9 

 

 

 

4) Work out 60 × 500 

 

 

 

5) Express 
11

4
 as a mixed number 



63.1 

1) Work out 716 × 15 

 

 

 

 

 

2) Find the highest common factor of 36 and 45 

 

 

 

 

 

3) Work out 
2

3
+

4

9
 

 

 

 

 

4) Round 2345 to the nearest 10 

 

 

 

5) Express 0.05 as a percentage 



63.2 

1) Find 25% of £136 

 

 

 

 

2) Complete using > or < 

 476381    ?      476471 

 

 

 

3) Work out the value of 3𝑥 + 4 when 𝑥 = 5 

 

 

 

4) Work out 35000 ÷ 70 

 

 

 

 

5) Express 2
1

4
 as an improper fraction 



64.1 

1) Find the lowest common multiple of 33 and 44 

 

 

 

 

2) Work out 12 − 2 × 3 

 

 

 

 

3) Work out 738 ÷ 9 

 

 

 

 

4) Find the next two terms of the sequence 67, 61, 55, 49, ….. 

 

 

 

 

5) Find 5% of 420 



64.2 

1) Write down the value of the figure 6 in 36034 

 

 

2) Express the improper fraction 
15

4
 as a mixed number 

 

 

 

 

3) Simplify the ratio 30 : 42 

 

 

 

 

4) Work out 8.4 × 100 

 

 

 

 

5) Complete using < or > 

 
5

6
        ?         

4

5
 



65.1 

1) Write in figures: two thousand, three hundred and four tenths 

 

 

 

2) Work out 4 ×
2

5
 

 

 

 

 

3) Work out 83 ÷ 5 

 

 

 

 

4) Divide £30 in the ratio 1 : 5 

 

 

 

 

 

5) Round 190.037 correct to 1 decimal place 



65.2 

1) Work out 23.4 ÷ 1000 

 

 

 

2) Complete using the symbols <  =  or  >  

 
13

20
     ?       0.56 

 

 

 

3) Complete:   5 minutes = …………….. seconds 

 

 

 

4) Work out 21 × 1.4 

 

 

 

 

 

5) Work out 
3

4
+ 2

1

5
 



66.1 

1) Complete ………. minutes =  3.5 hours 

 

 

 

2) Work out 3
2

5
+ 6

3

10
 

 

 

 

 

3) Solve 𝑥 × 4 = 12 

 

 

 

4) Work out 23.4 × 8 

 

 

 

 

 

5) Find 35% of £60 



66.2 

1) Work out 56.78 × 10 

 

 

 

2) Complete (with <  =   or  >  )  2.46km …….. 375m 

 

 

 

 

3) Complete using <  =  or  >    0.32 ………. 0.7 

 

 

 

 

4) List the factors of 23 

 

 

 

 

5) Work out  
2

7
×

5

6
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